N & o & AF & H Al A
2016E & =04 LEHSIH sYIlsdH
AN sg€II=4dH
HE: SERN JINHE(SYHSLL/5Y - 5E)

& FArzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=gJ|l=HdH 54,285,539 48,281,598 6,003,941

= 11,492,698
Xl 2,386,000
J| 2,828,873
< 5,098,026
Al 32,479,942
sESX JIEES(sgugsd/= - 5&) 7,950,095 6,805,856 1,144,239
= 216,000
< 662,322
Al 7,071,773
EA2te] 149,837 161,784 A 11,947
ALY X2 149,837 161,784 A 11,947
201 2et24d] 64,837 71,784 A6,947
01 At 22l 1,440 960 480
O&AN 2283 ¢ 1,440
— SclMEM 5,000& * 28 = 12& 120
— H ST 5,000& * 28 ~ 128 120
—HLEE 10,000& * 28 » 12& 240
—ot&4 2elES 20,0003 x 44 « 123 960
02 =24l 63,397 70,824 AT, 427
O =zl 3,299
—SHe HLYEFUH 3,299
FSH 937& = 84 = 120 » 304 2,699
S Xl 200,000& = 30H 600
OA&ZEHl ®Xldl 8,200
— 20 FEEHIX 9= 4,800
& M 200,000& = 12& 2,400
& 1 100,000& * 12& 1,200
Bd==AEE 100,000& » 12& 1,200
— &JIAE KX 2,400
2L HIIAIE 100,000& » 12& 1,200
B2 dIME 300,000& * 43 1,200
—d - AL SX2el 1,000,000& * 14 1,000
OXtg ety (170H) 47,798
—93719(&8 . 2%) 3,000,000& = 1CH 3,000
—4547(5 8,2 %) 2,500,000& « 1CH 2,500
—6209(AEEE,ER) 2,500,000& =« 1CH 2,500
—2185(A 8BS ,ER) 2,500,000& = 1CH 2,500
—4155(A 832,23 %) 1,500,000& * 1CH 1,500
—1272(A 83 2,2%) 1,500,000& = 1CH 1,500
—4219(2 832 ,8%) 1,500,000& * 1CH 1,500
—B407(AEEE,ER) 2,500,000& = 1CH 2,500




AN seIIsHE

Hi: sE=SX JteE(sgllgb/s52 - 5&)
& FArzel (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—3495(AEEE,ER) 2,500,000& « 1CH 2,500
—8656(A 8BS, ER) 2,500,000& = 1CH 2,500
—4269(A 8B E,ER) 1,500,000 * 1CH 1,500
— 8303 (HHSLM , IFL A ) 2,990
-3 1,500,000& * 1CH 1,500
LR (EAI Its)
1,490& = 204 * 503l 1,490
—9359(5€ , &2 %) 8,232
-3 5 1,313& = 2004 =« 203l 5,252
UL IHS)
1,490& = 1004 =« 203l 2,980
—5547(5 8,2 %) 3,000,000& = 1CH 3,000
—7043(58 .2 %) 3,000,000& =« 1CH 3,000
—33B9(AESES, NHEFLAIE) 3,288
- 3R 1,500,000& * 1CH 1,500
LR (A ItS)
1,490& = 204 =« 603l 1,788
—33B0(AESES, NESLAI) 3,288
-E= 1,500,000& = 1CH 1,500
LR (A ItS)
1,490& = 204 = 603l 1,788
OnxE2 SIIE Y L ol0IMA SH
100,000& * 1504 1,500
OFA AZAE SEILEZ
1,000,000& * 13| 1,000
O&AMN A== 1,000,000 =« 13l 1,000
OoEXE 33 30,0003 = 20CH 600
207 Ao 85,000 0 85,000
01 23739l 85,000 0 85,000
OsgJl=dH TAAANLAE dAIHE 2
sa 85,000,000 = 14l 85,000
L] 3,859,970 5,920,972 A2,061,002
= 86,000
< 588,402
Al 3,185,568
FRANFHRFA 27,540 33,400 A5,860
202 oddl 14,040 12,480 1,560
01 = LH o4 1l 14,040 12,480 1,560
OsH4 2 FQAE g2 FA(sgJlsd
H) 90,000& = 6 * 28 * 133l 14,040
203 YR =&l 13,500 14,000 A 500
03 A F=AH S =AY 13,500 14,000 A 500
OF2AIE A =& 6,000,000& * 14 6,000
O=sgll=Heg g2 =& 5,000,000& = 14 5,000




2N

SIS dH

HE: sE=X JHHE(SYHSLN/5Y - 58)
9l SN CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Osgd® 42 =X 2,500,000 = 14 2,500
sdsk= 0OlXEN 700,000 900,000 A 200,000
307 2iz2to| A 700,000 900,000 A 200,000
08 OIXIE & 2 700,000 900,000 A 200,000
Osgasia 0OXEN X&
700,000,000 = 13| 700,000
sJF DAE =X 265,400 305,560 N40,160
201 LBt 29,700 47,200 A 17,500
01 AP 22| H| 20,100 17,200 2,900
Os38ANM EEZ2 M 3,000& * 1,000 3,000
OANE=EE 89 HE 60,0008 = 10& 600
OS4+sSM2 E28 28 7
20,0008 = 30074 6,000
Osos®E U ABMY ZMA0S HALg
70,000 * 20¥ * 43| 5,600
OAFANDISATIAC 50 g
70,000 * 35Y * 23| 4,900
03 A2 G| 9,600 30,000 N 20,400
OY=AtEAE T 2 2IH I F 9,600
— A2 S HI 3,000,000& = 1A 3,000
— A2 400,000 * 4% 1,600
— I3 U 235 U= oM
10,000& = 2008 * 23l 4,000
— A& A2 =2 EH| 100,000& * 10 1,000
301 et A= 11,700 8,240 3,460
09 HAIAHI EAZ 11,700 8,240 3,460
Osgeol s 2 35 EFAXN O]
90,000& = 4¥H x 93| 3,240
O=e®™ D8 U 35 4K 24X
6,0008 * 100 * 23| 1,200
OY =AY EHAXRE SEAFY 23S O H]
90,000& * 22% * 23| 3,960
OdH=0I=2ts)| 2HAE A0
15,000& = 110"¥ = 23| 3,300
306 =132 209,000 209,000 0
01 =492 209,000 209,000 0
O3N=EE SHEIEIIZ2MY &2
209,000,000 = 1Al 209,000
307 QI2t0| ™ 15,000 41,120 AN26,120
02 QI2tAAMAIE E =X 15,000 41,120 A26,120
OdH=0t22t=)| 2HAE 2148 &
10,000,000® * 3JH A = 50/100 15,000
=I)DAE FA(E) 1,800 280,000 A 278,200




AN seIIsHE

My =E=X JINEHE(SHHS S

O
1%
it
[l

9l SN (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 540
Al 1,260
402 RI2EX=20| A 1,800 280,000 A 278,200
< 540
Al 1,260
01 It 2 AL E X 1,800 280,000 A 278,200
O&=sge s&HY HAFH K&
1,800,000 * 14 1,800
< 540
Al 1,260
st NS XNE(%) 283,200 396,480 A 113,280
< 59,472
Al 223,728
301 et d = 283,200 396,480 A 113,280
< 59,472
Al 223,728
02 Het=stit= 283,200 396,480 A 113,280
Osgelitd sXa3X 944,000& = 3009 283,200
< 59,472
Al 223,728
sSHEXY MYz RY NA(S) 16,000 16,000 0
< 4,800
Al 11,200
307 21201 A 16,000 16,000 0
< 4,800
Al 11,200
02 QB AANHEX 16,000 16,000 0
OsHEXNY AEAZRE 2d K&
0,000,000& * 1JH2 = 80/100 16,000
< 4,800
Al 11,200
SHER0 XA (L) 57,600 43,200 14,400
< 8,640
Al 48,960
307 glz2+ol & 57,600 43,200 14,400
< 8,640
Al 48,960
02 YAFHAANHFEE 57,600 43,200 14,400
OsHe=20l NEAE
3,600,000& * 20 = 80/100 57,600
< 8,640
Al 48,960
ZE0I2X stasS SEXNA(L) 64,000 40,000 24,000
< 19,200
Al 44,800
402 RIZEX201 A 64,000 40,000 24,000




2N
X ZH -
L= B

el

sgJlsdH
S g =T
SESX VRS (SYHSLM/5Y - 5&)

SOt #

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 19,200
Al 44,800
01 It 2 AL B X 64,000 40,000 24,000
OZEOUR SIHAS SAX
10,000,000& * 8% * 80/100 64,000
< 19,200
Al 44,800
sENE B34 N (%) 32,000 16,000 16,000
= 9,600
Al 22,400
307 glz2+ol & 32,000 16,000 16,000
< 9,600
Al 22,400
02 RIZFE MM E X 32,000 16,000 16,000
OSZ0SZSI AN
20,000,000& = 2J0 4 = 80/100 32,000
< 9,600
Al 22,400
SASMAHEBE=(Z) 2,232,000 2,388,000 A 156,000
< 468,720
Al 1,763,280
307 glz2tol & 2,232,000 2,388,000 A 156,000
< 468,720
Al 1,763,280
05 RIZHRI &3 2,232,000 2,388,000 A 156,000
O=s&g Mol2gz XA
7,440,000,000& * 1Al = 30/100 2,232,000
< 468,720
Al 1,763,280
SHENSEINHAEIEXA(Z) 9,000 30,000 A 21,000
< 9,000
307 gl2tol & 9,000 30,000 A 21,000
< 9,000
04 DIZHHALALSE E X 9,000 30,000 A 21,000
O=s0E HEFIIHAEEY XA
9,000,000& * 1JH A 9,000
= 9,000
SOHE &2 XNAAL(2) 22,000 22,000 0
= 11,000
< 3,300
Al 7,700
307 21201 A 22,000 22,000 0
= 11,000
< 3,300
Al 7,700
02 IZtE M AHE L 22,000 22,000 0




C HE =BT
Ha: s22X JHAB(SYHLHN/5Y - 5E)

S T/ (il

9l SN (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=Z8Z 2y NJAAY 7,333,330& » 3MA 22,000
= 11,000
< 3,300
Al 7,700
SHESSHIIAMEBLHSXRA(R) 75,000 0 75,000
= 50,000
Al 25,000
307 21201 A 75,000 0 75,000
= 50,000
Al 25,000
02 LB AAFEX 75,000 0 75,000
O=Z3SHE AL 2R A
50,000,000% * 2JHZ * 75/100 75,000
= 50,000
Al 25,000
SHHNSHMEAHEXNA(Z) 15,000 5,000 10,000
< 4,500
Al 10,500
307 glz2+ol & 15,000 5,000 10,000
< 4,500
Al 10,500
02 QIZtE M AHEE 15,000 5,000 10,000
OsgHIEdd FHHE XA
5,000,000& = 3H 15,000
< 4,500
Al 10,500
sEMsUs AL () 25,000 0 25,000
= 25,000
307 i+l & 25,000 0 25,000
= 25,000
02 ItE M AHEE 25,000 0 25,000
OsZEMsUzsesXIAAE
25,000,000 = 1004 25,000
= 25,000
AssgsEAY 22,600 10,200 12,400
201 24l 7,800 7,800 0
01 At 22l 2,800 2,800 0
OXNRsHSHEAY S&R Ast HAYXH=E
550,000& =« 4CH 2,200

5,000& * 120% 600
03 A2 5,000 5,000 0
OXR=dsd /A3E Hal 5,000
— =208 d2 A=
400,000 = 498 * 23] 3,200




AN seIIsHE

HE: sE=X JHHE(SYHSLN/5Y - 58)
9l SN (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— {325 8 7*¢ 500,000& * 23| 1,000
—f3ds 8% ¥ Ul R
200,000& * 43 800
301 et a s 14,800 2,400 12,400
06 212toI= 2l 04l 12,000 0 12,000
OXNmsSXNEX oHel=e HlwH=
4,000,000& * 5% = 60/100 12,000
09 &AL HI B &S 2,800 2,400 400
OXssgdsd d&X Ash Ol
20,000 = 140Y « 13 2,800
SN ZHAY 7,330 0 7,330
101 @124 dl 1,930 0 1,930
04 DIt Z2XREES 1,930 0 1,930
OZA&E 22 2y
48,240 * 4% * 10 1,930
201 L4l 2,000 0 2,000
01 At 22l 2,000 0 2,000
OZANE =4 & A2 FHAXZ
500,000& =« 4CH 2,000
206 M= Hl 3,400 0 3,400
01 =4l 3,400 0 3,400
OZANEE =48 & K2 3,400
—R&E 2 40,000& = 108 400
— gt 72 4,000& * 500% 2,000
—JIEt s ¢ 500,000& = 23l 1,000
SEMsSUSAY 2,400 0 2,400
206 = Hl 2,400 0 2,400
01 =8l 2,400 0 2,400
ORUAAAdEXNEA IFE HSE AIIHE
80,000& = 309H 2,400
Z=2gMSsEssSHNR (%) 2,100 0 2,100
< 630
Al 1,470
301 et Az 2,100 0 2,100
< 630
Al 1,470
06 212tQ1 = 2| 04 Hi 2,100 0 2,100
OZ=g0l=SEs4s HAYEHZA
1,500,000& = 2% * 70/100 2,100
< 630
Al 1,470
elaAsy 3,813,938 723,100 3,090,838
= 130,000




2N

SIS dH

HE: SERN JINHE(SYHSLL/S5Y - 5E)
SRS YE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 73,920
Al 3,610,018
Hsel XNHH 299 66,230 87,020 A 20,790
201 ¢er24l 13,180 43,820 A 30,640
01 At 2t 2l 1,680 8,480 A 6,800
Oo=24d=+¢ 1,680
~ASHAENN L ASAASRE BHLY
70,000& * 69Y 43 1,680
03 &At2 I 11,500 35,340 223,840
O#s - HE Ot3tdlol =29
5,000,000 = 23l 10,000
Otz 8&884 Asu=s
3,000& = 100 « 53] 1,500
301 et a = 23,050 13,200 9,850
02 Zet=eka 10,000 0 10,000
O#se AH ski=s X3
1,000,000& = 10 10,000
09 &AL HIZ A S 13,050 3,200 9,850
O#AsC g &EIIHA HUl(E,5Y)
90,000& = 20 « 13 1,800
OFse 88X H82 daJis A& o]
90,000& = 20 « 13 1,800
OFs - HEL SXNES AKX IS
90,000& = 10 « 23] 1,800
OYENASAEASSE HFX 2804H]
90,000& = 859 « 13 7,650
402 RIZ2EX201 ™ 30,000 30,000 0
01 It =2 AL B X 30,000 30,000 0
OFAsHEL F=E8=cldl XNIA
4,285,710& = 10¥ » 70/100 30,000
HAs BRI (Z) 32,000 32,000 0
< 9,600
Al 22,400
402 RI2EX=20| A 32,000 32,000 0
< 9,600
Al 22,400
01 It 2 AL B X 32,000 32,000 0
O#se 23 XA
5,000,000& = 8% = 80/100 32,000
< 9,600
Al 22,400
HNEsdsHdEIXNAMEH(Z) 2,970,331 0 2,970,331
401 Al HIZ 201 Y] 2,970,331 0 2,970,331
01 A& HI 2,931,668 0 2,931,668
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Al 8,750
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O#sel XA
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< 713,780
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OXEEAMZ20|E2 EHMASI B2 K&
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OMBASNE UE 222 N
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402 SI2FXHE0| M 571,200 574,950 AN 3,750
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= 91,149
11 JIEtE A= 91,149 71,000 20,149
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= 308,800
= 23,160
Al 54,040
301 LBt A= 386,000 386,000 0
= 308,800
= 23,160
Al 54,040
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01 = LHA YI 18,000 17,690 310
OMASEMAINSH AYEA XS0 Of
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Al 1,344
201 Let24d] 1,920 1,920 0
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OREB=SY 2K 22
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Al 1,344
JEdsHEE It 2 2,660 5,320 A 2,660
AT ASH(E)
< 798
Al 1,862
301 L2 LS 2,660 5,320 A 2,660
< 798
Al 1,862
06 212toI=2l 04l 2,660 5,320 A 2,660
OXBA =0l HAMAL o2
3,800,000& = 1 = 70/100 2,660
< 798
Al 1,862
HELBEFEXXNA(L) 424,620 416,334 8,286
< 117,624
Al 306,996
402 RI2EX =20l A 424,620 416,334 8,286
< 117,624
Al 306,996
01 It AL E X 424,620 416,334 8,286
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< 18,000
Al 72,000
O OIE B Y| X () 88,000 96,000 8,000
< 26,400
Al 61,600
206 M 2 Hl 88,000 96,000 8,000
< 26,400
Al 61,600
01 Wl 88,000 96,000 8,000
OYs WU (YHE) NS
40,0009 * 2,200 88,000
= 26,400
Al 61,600
IHHSXSS(E) 77.700 99,400 ~21,700
< 23,400
Al 54,300
402 212F X2 0] & 77.700 99,400 £21,700
= 23,400
Al 54,300
01 BIATEMLEE 77.700 99,400 ~21,700
OEZSZESZILN S4
1,000,0002 * 5tha * 70/100 35,700
< 10,800
Al 24,900
OZUE TSN S4
20,000,000% * 32 = 70/100 42,000
< 12,600
Al 29,400
HEESMBUASHHENE(E) 12,600 11,200 1,400
< 3,780
Al 8.820
301 YetE A 12,600 11,200 1,400
< 3,780
Al 8,820
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< 3,780
Al 8,820
EFsY SENUA(E) 56,000 35,000 21,000
< 16,800
Al 39,200
402 RIZ2FX20l A 56,000 35,000 21,000
< 16,800
Al 39,200
01 QIZt =2 AL B X 56,000 35,000 21,000
Oz adsy S8 N&
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< 16,800
Al 39,200
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Nrsg3HME 2435 3,442,474 2,280,191 1,162,283
J| 568,000
& 410,450
Al 2,464,024
U &EH A XI& 1,048,724 168,900 879,824
101 e1214| 4,824 0 4,824
04 J|I2ZtHIZ22NEES 4,824 0 4,824
OFMZEI S HYEsHM =H o2
48,2403 * 10Y x 52 x 23] 4,824
206 M = Hl 14,400 14,400 0
01 =4l 14,400 14,400 0
SUHMNS(Z00IS) LMY 2
160,000& * 30ha * 33| 14,400
402 SI2HXHE0| ™ 1,029,500 154,500 875,000
01 A XSAIEE =X 1,029,500 154,500 875,000
OAZEIIMEM(1-MCP) X
33,333 % 3,000m = 50/100 50,000
oz JI2=d =2 N
700,000& = 2004 * 50/100 7,000
Q=S RHII(SSI) 23 X
20,000,000 = 50 = 25/100 25,000
Oz =J|(T=2=ZE]D) 22 &
9,000,000 = 5CH = 50/100 22,500
OIZL2AL JIXISD| XSAS
10,000,000€ * 5ha * 50/100 25,000
OSF=ANL SAlS AT ZHCOKXC SEAMY
1,500 = 1,500,00008 = 40/100 900,000
W DEX ANLSEUHF () 1,420,000 1,300,000 120,000
J| 568,000
& 255,600
Al 596,400
402 SI2F 20| & 1,420,000 1,300,000 120,000
J| 568,000
= 255,600
Al 596,400
01 QAN SAIE E =X 1,420,000 1,300,000 120,000
O WHE=DEE AMESUSIAIE (D12)
2,840,000,000& = 14! = 50/100 1,420,000
J| 568,000
& 255,600
Al 596,400
WEEXNSIXNHA(E) 470,450 350,000 120,450
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Al 376,360
402 SI2F 20| & 470,450 350,000 120,450
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606,060& * 1,023m * 50/100 310,000
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Al 248,000
ON==JAXFIIIH X
1,000,000 = 47ha * 50/100 23,500
& 4,700
Al 18,800
OMWAEINMHEHM XA 136,950,000 * 14! 136,950
= 27,390
Al 109,560
WM Y KR (E) 288,500 196,000 92,500
= 57,700
Al 230,800
402 SI2vXHE0| ™ 288,500 196,000 92,500
= 57,700
Al 230,800
01 QIZEXI2AIE 2 X 288,500 196,000 92,500
OsE0 =D, OsS&E2ZED NE
9,000,000& * 23CH = 50/100 103,500
o 20,700
Al 82,800
Qit=dE &HII(SSI) X
20,000,000 = 31CH = 25/100 155,000
= 31,000
Al 124,000
Oy S22 N
6,000,000& * 10CH = 50/100 30,000
= 6,000
Al 24,000
EAANY HIMAS (L) 13,800 15,000 A 1,200
=} 2,760
Al 11,040
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01 QIZEXIE2AIE 2 X 13,800 15,000 AN 1,200
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01 BIZtt2 AL E X 200,000 0 200,000
OAMIL 2EE2 ZSNI(FUEAM L, EX
£ 34%) 12,000& = 50,000 * 1/3 200,000
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— 2% HIotE XA
60,000,000& = 1.0ha * 50/100 30,000
—Z% JtS0H 28 K&
3,500,000% * 3.0ha * 50/100 5,250
OX&E Euek & SE&a NN X2 22,500
-2z ZHE HE N
150,000& * 3002 * 50/100 22,500
Osilts SES NN X 56,000
—=s0 X X
70,000 * 6008t A * 50/100 21,000
— S0t LA R=AIE X
10,000,000% * 7ha * 50/100 35,000
HY2FZH (=& =) (IEH/IIEL) 1,065,428 957,383 108,045
ol 2d | 815,084 667,081 148,003
ol 2| 815,084 667,081 148,003
101 @124 dl 815,084 667,081 148,003
01 2= 383,005 325,767 57,238
OsgllsdE AMAAZRLZ(5EA)
9,332& = 38AIZt » 76 + 128 323,410
OolatatSa, Zusd A2A2R =2 (8d)
9,332& * 6F * 36AI2t + 12& 24,189
OolaE2, BNsR FUA2L 29
75,0128 * 4% * 118 35,406
03 I AHA2 2 HE > 432,079 341,314 90,765
OFAZel , TR A EZ22(8Y) 235,435
—Jles 1,230,350% * 8H * 123 118,114
— &0z 1,230,350 * 100% * 8% = 43| 39,372
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M SYIISHE
HA: HH2IAH (s ==)(IIEH/IIE)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— EEF Ot
1,230,350& * 75% = 8H * 23 14,765
—HEH 6,240
bH < Xt 40,0003 = 5% « 123 2,400
- JIE 20,000 = 12% = 128 2,880
- JbAS (AR )
80,000& = 1% = 12& 960
b ELE
9,541& » 150% = 15AI2t = 8H = 12& 20,609
—gaaesy
76,328% * 150% * 3H = 12¢ 4,122
—dAXRrsSFIt=E 76,3288 x 8% » 20¢ 12,213
— AUz A 100,000& » 8 = 12& 9,600
— WS 2Ll 100,000& *» 8&  12& 9,600
— o=l 100,000& « 8¢ 800
OsJlH=el, 28(6Y) 196,644
—Jlas 1,336,630 * 6H * 123 96,238
—&0= 1,336,630& * 100% * 6% = 43| 32,080
— S E =t
1,336,630% * 75% = 6H * 23] 12,030
—JtE=E 5,880
- B < Xt 40,0002 * 5 * 123 2,400
- JIEDHE 20,000& = 13% = 128 3,120
- JhAES (A RHA)
30,000& = 1% = 128 360
—AN2Z2RxE
10,2833 * 150% = 15A12 » 6% » 128 16,659
— 52
82,2643 = 150% * 6% = 12¢& 8,885
— s sSsIt=Y 82,2643 * 6H » 20 9,872
— M Z A 100,000& *» 6¥ = 12 7,200
— wWEs2 X 100,000& = 69 = 122 7,200
— o=l 100,000& * 6 600
Jl=&dl 250,344 290, 302 A 39,958
Jl= & 250,344 290, 302 A 39,958
201 YEr2 Y| 153,464 162,202 £8,738
01 AP 22l 88,144 96,882 A8,738
O=AEX ¢ 15,000& = 172FA « 123 3,060
OS20AH| 6,000& = 64l » 178 * 123 7,344
Ogetx=x2 100,000& * 123 1,200
OL72 &SI 50,000& » 123 600
Oxmn& =4l 8,640
—SMI 2l(aF) 500,000& =+ 1CH 500
—SAD =el(UE) 1,000,000 * 1CH 1,000
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AN seIIsHE
HA: HH2IAH (s ==)(IIEH/IIE)

el Jle 2 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— T2l %2 100,000 * 4CH = 50/100 200
— 2A EY 200,000& = 53] = 104 1,000
— TR EH(E8) 200,0008 * 53 = 4CH 4,000
— D2 EUd(Zet) 200,0008 * 53 ~ 104 1,000
—PC =2l 100,000 * 17CH = 20/100 340
— J|EF =2lH]| 50,000& = 12& 600
OJIEF AFR2t2lH] 5,000& * 179 x 12& 1,020
Og - =&y 65,160
— X 60,000& » 3% » 1182 21,240
- =X 60,000 » 2H x 3662 43,920
ogag a7 2 2 M 1,120
—gdg &332 2 100,000 » 2H x 23] 400
— &3 MNE 30,000& = 23| » 12& 720
02 3524l 65,320 65,320 0
O332=2 2 HA 65,320
—4dH dIIe=2 44,400
HAL AFR A 3,200,000 = 12& 38,400
B YA (52A)
350,000&  12& 4,200
SO AHA(HD) 150,000& = 12& 1,800
— &2 60,000& * 123/ & = 128 8,640
— &I oML =2 320,000& « 12& 3,840
—RERZ 150,000& = 40 = 128 7,200
— 4SS AlEE  10,000€ * 23/ x 128 240
— A EOtME 3| 300,000& * 13 300
— HAI HINEEEZ 350,000& * 23] 700
202 04| 70,380 104,000 N 33,620
01 2LHOHI 70,380 104,000 N 33,620
Osdilt+l ERF=X (bl 70,380
— 2L o B 20,000 » 179 * 122 x 12& 48,960
— 2204 bl 90,000& » 174 = 14 21,420
203 € R =&lY| 10,900 10,700 200
01 J|2A2I PR =&Y 3,300 3,300 0
OsgllsdgHAE JASHLLRFAH|
3,300,000& » 1H 3,300
02 33Ot E R =AY 3,400 3,200 200
OFIAINNMAR Y| 40,000& * 85Y 3,400
04 ENSIHRE=XY| 4,200 4,200 0
ORANSII2FAH (sH U 4=14)
350,000& = 12& 4,200
204 &2 = ZF H| 12,600 11,400 1,200
01 S LRHAH| 12,600 11,400 1,200
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2N

SIS dH

Ho: HHSAAH (SFH D) (IIEH/IIE)
Sl D122l (ol &)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %Eﬁ Hwsz
SEEEFERPEET] 12,600
—=gJI=sdEHAE 400,000 * 1 « 123 4,800
— & 100,000& » 5% = 12& 6,000
—XN2AA e 50,0008 « 3H « 123 1,800
405 XtAtHE SHI 3,000 2,000 1,000
01 AL ESFH S 3,000 2,000 1,000
Od3H =Dl 3,000,000& =+ 1CH 3,000
NRgsS (sl sdH) (sHlLrM/5 - 5&) 700,000 700,000 0
LHEHHX = 700,000 700,000 0
HEHAH X = 700,000 700,000 0
702 013HES 700,000 700,000 0
M II2d8E3 700,000 700,000 0
OYFA SESLHNLNAIIZ BE3
200,000,000& * 12/ 200,000
OYZA SEMSHAAFIIZ HE2
500,000,000& * 13l 500,000
siEe FE(sglLdst/sY - s&) 1,011,996 4,584,517 A 3,572,521
= 56,176
= 219,890
Al 735,930
s3I = 1,011,996 4,584,517 A 3,572,521
= 56,176
< 219,890
Al 735,930
sttE =553 154,412 38,608 115,804
101 @14l 14,472 20,088 25,616
04 DIt 22 s+ 14,472 20,088 A5,616
OB APt 2550t HZERQS oA
48,240 * 3% = 100 14,472
201 Let24E] 2,900 3,400 A 500
01 At 22l 2,900 3,400 A 500
OsH2 RENIB ¥ 2551 S 8429 X
60,000& * 54 300
O+E=XHO 983 &2y
0,000& = 23| = 15X 2,100
OUEAIL =& EE= ® 500,000& * 15 500
203 ¥ S =&l 2,000 0 2,000
03 AIZ=XH 2 =AY 2,000 0 2,000
OsME 42 22 gex7
2,000,000& = 14 2,000
306 =93 130,000 0 130,000
01 &3 130,000 0 130,000
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AN sg€II=4dH
M A2 QE(=2UHY

@ SRS (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZ=% sAE 220203 202
130,000,000& * 14 130,000
402 BI2HX=01 M 5,040 15,120 A 10,080
01 B2t AP E X 5,040 15,120 A 10,080
OUE Att+=& SESIH HZEEY &X X&
36,000& = 20004 = 70/100 5,040
SABIISAME L 28,440 1,600 26,840
301 L2 Az 1,440 1,600 A 160
09 &ALAHIB &S 1,440 1,600 A 160
OJSHgEd & == AIMIE HUHEL
90,000& = 8 = 1 « 23| 1,440
402 RI2HXt20l ™ 27,000 0 27,000
01 22t t= AP E X 27,000 0 27,000
OAREIIEAE &
10,000,000 = 14l = 70/100 7,000
OAMESI| FFE=S0t 28I N
4,0002 = 10,00028 * 50/100 20,000
rsESZe(APINERE (=) 40,515 35,855 4,660
= 28,361
< 3,646
Al 8,508
307 21201 A 40,515 35,855 4,660
= 28,361
< 3,646
Al 8,508
02 QIAFAAFEX 40,515 35,855 4,660
OGAPRI ZS =Dt o™ &2 Atdl X1 &
4,051,500& * 10002 40,515
= 28,361
< 3,646
Al 8,508
stg FE5T(L) 683,000 626,600 56,400
< 192,900
Al 490,100
301 L2 AF 120,000 107,000 13,000
< 24,000
Al 96,000
MIIEE4d3 120,000 107,000 13,000
OtldsdtE =£=]H X& 120,000
— AR, el =3H, JIE A sdS
20,000,000& » 63 = 120,000
< 24,000
Al 96,000
307 gl2tol & 320,000 304,000 16,000
< 96,000
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AN seIIsHE

MY M2 SE(SUNLLL/SY - 5E)
SEHET SRR (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 224,000
02 It M AMHEE 320,000 304,000 16,000
OS803e =5 84 14
400,000,000& * 1Al = 80/100 320,000
< 96,000
Al 224,000
402 RI2EX=20l A 243,000 215,600 27,400
< 72,900
Al 170,100
01 It 2 AL E X 243,000 215,600 27,400
O+SSAE SHC 282 HDAY
9,000,000& * 104! * 80/100 72,000
< 21,600
Al 50,400
Osa2 43 L AMALTIAY
42,000,000& = 141 = 50/100 171,000
< 51,300
Al 119,700
SHMABINBMEEH () 50,000 650,000 A 600,000
< 15,000
Al 35,000
402 RIZEX=20| M 50,000 650,000 A 600,000
< 15,000
Al 35,000
01 It 2 AL E X 50,000 650,000 A 600,000
OGreen-sASF0 XA AL
50,000,000& * 14l 50,000
< 15,000
Al 35,000
FUTNsMERSC (GAP)AHEE 24 () 55,629 0 55,629
= 27,815
S 8,344
Al 19,470
307 glz2+ol & 55,629 0 55,629
= 27,815
< 8,344
Al 19,470
02 It M AMHEE 55,629 0 55,629
OFMT SAHSSLB2I(GAP) BHEE AL
18,543,000& * 300 £ 55,629
= 27,815
< 8,344
Al 19,470
F+RE(SYHY 2/ 5 - 52) 686, 168 602,368 83,800
< 23,000
Al 663, 168
BLRSZHY B3 686, 168 602,368 83,800




AN sg€II=4dH
Y BARS(sUHLLM/5Y - 5E)
Sl BARESIWY s (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 23,000
Al 663, 168
IS S XA A 356,368 396, 368 A 40,000
201 ¢er24l 10,960 15,960 A5,000
01 At 2t 2l 8,960 13,960 A5,000
O el 7,000
- StE EE=2 MH 7,000
-HEsEsY 250,000& * 43 1,000
- AEIA 50& = 10,0000 » 23 1,000
-2 100& = 5,00000 » 28 1,000
SS3 M 2,000& = 2,000 4,000
OLESNSREHE 2ARS 25
70,0003 = 14%H » 23| 1,960
02 =24l 2,000 2,000 0
OAMIUFLR AIE 2825 2E€3
2,000,000& = 13l 2,000
301 LAz 50,000 50,000 0
1MIIEELES 50,000 50,000 0
OMU=Z=It XM (BIAIE S, =HMZX)X
2 1,000,000& = 100ha * 50/100 50,000
307 21201 A 295,408 310,408 A 15,000
02 ItFAAHEX 295,408 310,408 A 15,000
OZ=AL 22 (R2E2) NI (Exs FH
) 20,000,000& * 13l 20,000
OZ= NZ23s dd+5=5d 88 NI (EX
2 70%) 20,000,000& = 14 20,000
OotoleE At §35sIF d8H X &
1,200& » 626,000& &+ = 34/100 255,408
SE=UIUDIUSH(F) 111,000 54,000 57,000
< 22,200
Al 88,800
402 RIZ2EXt20l ™ 111,000 54,000 57,000
< 22,200
Al 88,800
01 QIZtt=2 AL B X 111,000 54,000 57,000
Otldsite =533 HMoMd (5Dt
IR 8) 7,000,000& * 541 » 60/100 111,000
< 22,200
Al 88,800
HEAPCEZI(Z) 2,800 0 2,800
< 800
Al 2,000
301 et A= 2,800 0 2,800
< 800
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AN sg€II=4dH
Y BARS(sUHLLM/5Y - 5E)
Sl BLRSIH L5t ER-ED
SN BA(SA) - MRAY - BES il HImEET
Al 2,000
21= 2/ bl 2,800 0 2,800
ME RSAAE BXI0Y =220l
4,000,000& * 1 = 70/100 2,800
< 800
Al 2,000
& EHH| K| & 18,000 36,000 A 18,000
307 glz2tol & 18,000 36,000 A 18,000
BAAEEXR 18,000 36,000 A 18,000
=0 A8l K& 18,000
AWEEI| S HEH NR(YFEDT
OF, @ =242)
100& = 300,000kg * 2&= * 30/100 18,000
AMSSINELHALX A 30,000 30,800 A 800
307 gl2tol & 30,000 30,800 A 800
04 DIZHHALALSE E X 30,000 30,800 A 800
OAMES)| WAl BE - E28A KB (EX
£ 70%) 30,000
—EFEE EFES0HEFNF E2HA X
& 30,000,000& * 14 30,000
S=AMUESH ALK A 168,000 85,200 82,800
307 21201 A 168,000 85,200 82,800
04 DIZHHALALSE E X 168,000 85,200 82,800
OZ=AD EZEHAH(EEZZE 90%)
150,000,000& * 14l 150,000
AL MO ME A
12,500,000 = 14! « 80/100 10,000
AL BEE AABAH(EZE 90%)
4,000,000 = 23l 8,000
= (sgdidsbl/=g - &) ,246,000 1,150,079 95,921
< 440,356
Al 805,644
,246,000 1,150,079 95,921
< 440,356
Al 805,644
& 145,110 145,110 0
23l 1,470 1,470 0
22l | 1,470 1,470 0
wnesA AZHIXE e =
70,000& = 798 = 33 1,470
307 glz2+ol & 98,280 100, 170 A1,890
02 QIZtE M AMHEE 98,280 100, 170 A 1,890
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AN sg€II=4dH
M SABMASM(SHUNSM/EY - &)
el st A (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OESAE 0ts S48 242 244l X
A(BEZE8 FN) 2103 = 2,6008 = 180 98,280
308 XX EHSOIA 45,360 43,470 1,890
08 WSII20HetE = 45,360 43,470 1,890
ORXY Ols SAE 2xAMWE 2&H X2
2103 = 1,2008 = 180 45,360
Aetdssasstng Al (E) 955,295 849,834 105,461
< 382,118
Al 573,177
307 gl2tol & 908,840 0 908,840
< 363,536
Al 545,304
02 It M AHE L 908,840 0 908,840
OHSBASAS DI XA(S=H2)
908,840,000 * 14 908,840
< 363,536
Al 545,304
308 MtXIEHMSOIH 46,455 849,834 A 803,379
< 18,582
Al 27,873
08 WSII 0SS = 46,455 849,834 A 803,379
OXSZSME stuzga XIABRHI)
3,800& = 12,2259 46,455
< 18,582
Al 27,873
ZESMZATE(Z) 145,595 155,135 A 9,540
< 58,238
Al 87,357
308 MHXIEHSOIH 145,595 155,135 A 9,540
= 58,238
Al 87,357
08 WSEII20HetE = 145,595 155,135 A 9,540
OZ - 531 2434 X
145,595,000 * 14 145,595
< 58,238
Al 87,357
SEEHS IS (sl dt/sY - =&) 1,428,666 0 1,428,666
= 46,810
Xl 710,000
< 168,060
Al 503,796
6X &Y |4 1,428,666 0 1,428,666
= 46,810
Xl 710,000
< 168,060
Al 503,796
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2AMH: 590

XZH: ==5
(=2 I

SEEHS JtE S (sEM LN/ - &)
el BRAY 54 EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SsEXESXA 49,250 0 49,250
201 £B-2d| 2,000 0 2,000
01 At 22l 2,000 0 2,000
O6XH&H AIHHE M FC 2,000,0008 * 14 2,000
301 et d s 4,050 0 4,050
09 HALAHIE& S 4,050 0 4,050
OSHEMEFL0IS AYXE - ARE D0
90,000& = 99 « 33 2,430
OSS9 SOHEMEHA0S 28 &40yl
90,000& = 99 « 23] 1,620
307 glz2tol & 43,200 0 43,200
02 It M AMHEE 43,200 0 43,200
OsHENEEL0IS ARE XNAANG(BEXE
Ho) 1,200,000 » 3% » 128 43,200
SELSTNA(T) 345,000 0 345,000
< 103,500
Al 241,500
402 BI2HX=201 M 345,000 0 345,000
< 103,500
Al 241,500
01 It AL E X 345,000 0 345,000
Os=sZE4LSid €284
300,000,000 = 141 = 80/100 240,000
< 72,000
Al 168,000
OXY=g CEOIIBHRASAMY XN&
105,000,000 = 24 % 50/100 105,000
= 31,500
Al 73,500
SEMENE AREME XNA(S) 86,400 0 86,400
= 43,200
< 12,960
Al 30,240
307 gl2tol & 86,400 0 86,400
= 43,200
< 12,960
Al 30,240
02 It M AHE L 86,400 0 86,400
O=ZHeits AIR2Z MEXH
1,200,000& » 6% » 12& 86,400
= 43,200
< 12,960
Al 30,240
=MsZEXHENS =4 (2) 270,000 0 270,000
X 210,000
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S EX=D

HH: sZ8435 JgtEs(sgddigad/sY - &)
& extate |4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 60,000
402 RI2EX20| A 270,000 0 270,000
X 210,000
Al 60,000
01 It 2 ALHE X 270,000 0 270,000
OsMzsEXMENS AZ22 X3
100,000,000 = 3JH 4 * 90/100 270,000
Xl 210,000
Al 60,000
SEMEsLOS2LE (=) 6,016 0 6,016
= 3,610
< 600
Al 1,806
201 ¢4l 1,200 0 1,200
= 600
< 600
03 A2 Z Hl 1,200 0 1,200
O==0l8 MUlAetdI = 1,200,0008 * 14 1,200
= 600
= 600
301 et a3z 4,816 0 4,816
= 3,010
Al 1,806
MIEBE4d3 4,816 0 4,816
SENENS 2 XNE
860,000& = 7JH2 = 80/100 4,816
= 3,010
Al 1,806
GFSINSSHAMNS () 672,000 0 672,000
Xl 500,000
< 51,000
Al 121,000
307 21201 A 312,000 0 312,000
Xl 200,000
< 33,000
Al 79,000
02 LB AAHFEX 312,000 0 312,000
OgF2IISMAF L (AMLH2FH S)
312,000,000 * 14| 312,000
Xl 200,000
< 33,000
Al 79,000
402 RIZ2FXt20l ™ 360,000 0 360,000
Xl 300,000
< 18,000
Al 42,000
01 A=A EX 360,000 0 360,000

_36_




2AMH: 590

XZH: ==5
(=2 I

SZEH5 DS E (sl /sYH - s5)
el BRAY 54 EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OFZINBAUISHIIZ2AMEXNL)
360,000,000& = 14 360,000
N 300,000
o=t 18,000
Al 42,000
EL0IHE (s8HSFM /s - = =) 1,532,180 1,317,660 214,520
& 93,600
Al 1,438,580
SSNE EE 1,532,180 1,317,660 214,520
= 93,600
Al 1,438,580
P S 254,900 208,500 46,400
201 et d| 31,500 33,500 A 2,000
01 A2t 2| bl 31,500 33,500 A 2,000
O Al ZESHA HASE 2
100,000& * 108 * 53 5,000
OSSH2 MM 224
50,000& = 20H 1,000
OsSae ABEA 222 M
300& = 5,0000H 1,500
OsSHg NBHAE TR A
500& * 5,0000H = 24! 5,000
OOAHEEHE 290 2 222 #¢
100,000 = 303 3,000
OHEENHE =85X A=
550,000& * 1CH * 203 11,000
O=SEAME HEZ2 g &9 MZE (A ALD
, Bt A 1,000,000& * 3H 3,000
OsS¢sES =2 JINM 7Y
10,000& = 100 = 203 2,000
402 SI2vXHE0| ™ 223,400 175,000 48,400
01 QAN SAIE E =X 223,400 175,000 48,400
OEA sSENS 22 4% N (Exg A
oK) 100,000,000 = 14! 100,000
OGFeR2T X Molst A X & 123,400
—E82tEAx X
50,000,000& = 141 %= 70/100 35,000
— AILH(OIS )H A, Al 2D X
2,000,000& = 50CH = 70/100 70,000
— AL EF22X W NF(EXZE 70%)
500,000 = 204 10,000
~gxse xE2 HE X
6,000,000& * 2J04 = 70/100 8,400
SSNE B2 867,000 1,025,000 A 158,000
201 et d]| 846,000 992,000 A 146,000
01 AFR 22| H| 837,000 963,000 A 126,000
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sI|l=4H
E20HE (slLb/5S - 5F)
sS&tE 28
o
- B (3H) - NRAY - BES 0l &t o e
Oz 21 444,000
—Tvza 10,000,000 = 3 » 4= = 3 360,000
ctblezn
1,000,000& * 7 = 4= x 3& 84,000
Ollsns &1 93,000
—U=Al XotE A38l=0 & HH &0
4,000,000 * 402 » 3& 48,000
—UEA USRS A8 ZD(IA, e
g) 5,000,000& = 34 « 3 45,000
OsS4&E S50 Jegys g8
10,000,000& * 23] 20,000
Osaa10 € JIet S20M 22
5,000,000& = 34  2& 30,000
OXZUERIAMHIA(SNS) sSate g
20,000,000& = 14 20,000
OsS4&E SE2AA AL - AISE sSUE
= 500,000& * 103l 5,000
OsStts 2208 CAfe
10,000,000& « 14l 10,000
OUEA sSi= EdE 2
5,000,000& * 304 123 180,000
OCEY E28 SHY M
10,000,000& = 24! 20,000
OsSa2 2B FNES
5,000,000& * 3042 15,000
02 2324l 9,000
OsS¢tts 2208 HIIR=s
250,000 = 3MA = 128 9,000
301 et d = 21,000
09 AL HI 2 &S 21,000
OsS4&E S2UAL 288 24
7,000,000 =+ 33l 21,000
el 2= 3,000
B2 HH| 3,000 3,
AFS 22l 3,000 3,
O=ctel 4EE SFEY LN HY
250,000& * 123l 3,000
SN EHXE(T) 10,000
< 3,000
Al 7,000
Qe a = 10,000
< 3,000
Al 7,000
HALAHI B &= 10,000
OAZHAE &It XA 2,000,000& = 53l 10,000
= 3,000
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10,000

40,000

40,000

36,120
36,000
36,000

120
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18,000
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H3r
Wikd
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960
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79,280
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1,080

1,080
18,000
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14,400
18,000
3,600
14,400
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H

Al

W
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A sgI=HH
HM: 20N E (sSHlYSA /s - s5)
(el sSe2 &2 (ol &9)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HOIOIE =& 22=M X& 10,000 0 10,000
307 2Iz2t0| A 10,000 0 10,000
04 SIZ2ISHAAISH E & 10,000 0 10,000
ONIJIOIE I8t H AHIFSE A}
20,000,000 = 13 = 50/10 10,000
XNoed (%) 250,000 0 250,000
& 75,000
Al 175,000
402 SI2vXHE0| & 250,000 0 250,000
= 75,000
Al 175,000
01 QIZEXIE2AIE 2 X 250,000 0 250,000
OzZZE A &X
500,000,000& * 141 *« 50/100 250,000
= 75,000
Al 175,000
BHE e (sl it/sY - =) 634,380 505,320 129,060
J| 39,000
o= 68,500
Al 526,880
SENSES BAEE 634,380 505,320 129,060
J| 39,000
o=} 68,500
Al 526,880
L SEAS BAHE o= 87,380 77,380 10,000
201 et | 87,380 77,380 10,000
01 AP 2t 2] H| 87,380 77,380 10,000
OSHNHE A0S0t AHEAZ (AL, Q1A
&2) 20,000,000 * 3= 60,000
OoBdE =52 11,000,000 * 22 = 22,000
OXEMAE AX A= 150,000& = 20= 3,000
OSSHE BESUE MRS NS
70,000 x 8 x 23| 1,120
OsSHE ZSHUC EBRD Mg
70,000 * 9¥H x 23| 1,260
TETH HE ALY 323,000 397,940 ANT4,940
402 SI2FXHE0| & 323,000 375,440 NB2,440
01 QIZEXIE2AIE 2 X 323,000 375,440 NB2,440
O2J|ca XNelHEASEN e &M X
1,200 = 4Z = 25,00000 * 40/100 48,000
ORLsEME MNEANSI ZTEM XA
1,250 = 1022 ~ 10,0000 = 40/100 50,000
OsSits B T N
1,250 = 1522 = 30,0000 * 40/100 225,000
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A sgI=HH
M SUC N (SUHLLL/ S - SE)
oo =SHE BEdE e (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
LESHESHENNE (L) 120,000 30,000 90,000
== 36,000
Al 84,000
402 BI2H X 20| M 120,000 30,000 90,000
o= 36,000
Al 84,000
01 QIZEXIE2AIE 2 X 120,000 30,000 90,000
Od=ELs+sNE B3
40,000,000& = 141 %= 50/100 20,000
& 6,000
Al 14,000
Od=ERe=sdE 953sd
200,000,000 = 1JH A = 50/100 100,000
= 30,000
Al 70,000
BaBHESHIS(2) 104,000 0 104,000
J| 39,000
= 32,500
Al 32,500
402 BI2H X 20| M 104,000 0 104,000
Dl 39,000
= 32,500
Al 32,500
01 QIZEXIE2AIE 2 X 104,000 0 104,000
OaBEdEsSENE
130,000,000 = 14! = 80/100 104,000
J| 39,000
= 32,500
Al 32,500
UHESE(s2HlLdFM /s - 5F) 187,500 187,500 0
=22 187,500 187,500 0]
el = DR 187,500 187,500 0
301 et A= 175,000 175,000 0
11 J|EtE A2 175,000 175,000 0]
OdtEH HAXH X
30,0002 * 9,000 = 50/100 135,000
OYZ=A BHHIHl A&
4,000€ * 25,0004 = 40/100 40,000
402 SI2F X0l & 12,500 12,500 0
01 QAN SAIE E =X 12,500 12,500 0
Ogzu <ig ZTIH ME X
1,250 * 25,0000 = 40/100 12,500
HELSABH(SEX ) (IIEH/DIE 69,084 61,720 7,364
JlE&dl 69,084 61,720 7,364




D =) HEH
D U RIAUI(SSXAW)(IIEH/IIE
:Jl23tl

SN HH-S(BN) - MBAY - B il HlnE2
=3l 69,084 61,720 7,364
201 £B-2d| 16,404 15,020 1,384
01 At 22l 16,404 15,020 1,384

O=SAMEX 2L 15,000& » 129FA « 128 2,160
OEZ2 A 6,000& = 64 » 128 » 123 5,184
Ot 100,000& * 12& 1,200
OALHE2 T A7 50,0008 * 12& 600
OAL7 2 =44l 6,540
— SAII =el(2E) 500,000& =« 1CH 500
— ZEH =2 100,000& = 4CH * 50/100 200
— SAMI EYH 200,000& = 53| = 1CH 1,000
—ZgH EH 200,000& = 53| = 404 4,000
—PC =2l 100,000& * 12CH * 20/100 240
— JIE =2/l 50,000& = 123 600
OJIE At 22l 5,000& = 128 » 12& 720
202 oddl 49,680 40,000 9,680
01 2Ol tl 49,680 40,000 9,680
SNy 2= 0l 49,680
— 2L O bl 20,000& = 122 * 12 = 128 34,560
— 220yl 90,0003 * 1294 » 14« 15,120
203 YR =2t 3,000 3,000 0
04 NI AL 3,000 3,000 0
ORN2EERFIHI(RSXA L)
250,000& = 12& 3,000
ADIBE ES(SEHSSM/5Y - 5E) 686,656 7,379,808 1,306,848
= 964,003
| 1,782,593
< 1,272,679
Al 4,667,381
St 4 2,709,628 2,238,590 471,038
| 579,130
< 480,938
Al ,649,560
ObXI 24 AFOFE AFRY (&) 15,000 10,000 5,000
< 4,500
Al 10,500
307 glz2+ol & 15,000 0 15,000
< 4,500
Al 10,500
02 QIZFE MM E X 15,000 0 15,000
OSO0HXI 4 & OFF AL
20,000 = 1,500 * 50/100 15,000
< 4,500
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AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
Sl BRMY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 10,500
SHMTAAD () 82,050 82,050 0
< 24,615
Al 57,435
gt =01A 82,050 82,050 0
< 24,615
Al 57,435
01 It AL E X 82,050 82,050 0
OXANSHMEHXHA
40,000,000& = 1HMIE * 60/100 24,000
S 7,200
Al 16,800
OArZ HH &I X1 & ALY
30,000,000& = 2CH * 60/100 36,000
< 10,800
Al 25,200
OMZAHZI XI& 900,000& = 35CH * 70/100 22,050
< 6,615
Al 15,435
? EHE sS4 AtY 654,248 645,760 8,488
o124 dl 9,648 0 9,648
JIZtH22UHsE+ 9,648 0 9,648
OYFE? SUCYD ARRZE 2y
48,240 * 18 * 200 9,648
2 B2 | 700 30,260 A 29,560
AtS 22l 700 10,260 A 9,560
OgzseSLANAY BEEY
70,0002 * 5% « 23| 700
M=l 32,000 30,000 2,000
M=l 32,000 30,000 2,000
Od=gte 353 54 32,000
—==3g 0la Mz £ 80,0003 * 4005 32,000
o K Y| 20,000 0 20,000
A& S 2 20,000 0 20,000
O0PU &+ MaD|S Y %E, E5 S
20,000,000& =« 14 20,000
LEtE A= 161,900 130,500 31,400
JIEtE 4= 161,900 125,000 36,900
OYFES MUL SEAY L 2F 014 A
A 00,000& * 3005 150,000
O=&g& 0la &S0HX & Xl
40,0003 = 1905 7,600
O4+TE 0l4 24 44 HEHD
50,000& * 505 2,500
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AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
Sel: BNy 84 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3 dUs =35 £24 300,000&8 » 65 1,800
402 RIZ2EXt20l ™ 430,000 455,000 A 25,000
01 It =2 AL B X 430,000 455,000 A 25,000
OLZE e BdHE SHAL 250,000
—1NZZE BHES MA ez
200,000& = 1,500 * 50/100 150,000
—YFES SN DHHAL
10,000& = 20,0005 = 50/100 100,000
OZ gl sRAEsIH 371 X
300,000 = 200CH = 50/100 30,000
OYxBS HLIEAY
50,000& = 5,000 * 60/100 150,000
TAISMAD|BE S ALY (2) 310,920 225,680 85,240
J| 118,680
< 57,672
Al 134,568
301 et A Z 243,000 162,000 81,000
J| 81,000
< 48,600
Al 113,400
1MIIEESS 243,000 162,000 81,000
OAMLelXl HMz=Hl
60,000& = 4,500& * 90/100 243,000
J| 81,000
< 48,600
Al 113,400
402 RI2HXt20l 67,920 47,580 20,340
J| 37,680
< 9,072
Al 21,168
01 22t t=2 AP E XL 67,920 47,580 20,340
OMZBEE SI XA
120,000 * 630ha * 70/100 52,920
J| 22,680
< 9,072
Al 21,168
OH%ZEX™el He 100,000& * 5008 * 30/100 15,000
J| 15,000
SIRIMSBAIE (=) 174,500 179,000 A 4,500
= 52,082
Al 122,418
301 LtE L= 77,000 77,000 0
= 23,120
Al 53,880
11IIEEAS 77,000 77,000 0
082 =Fa 0lAAY
550,000& = 200 * 70/100 77,000
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sgJlsdH
SAFLE T (sSHLSd /s - =&
oMY R4 SCREED
SN HH-S(BN) - MBAY - B il HlnE2
== 23,120
Al 53,880
307 glz2tol & 97,500 102,000 A 4,500
< 28,962
Al 68,538
02 IZHEHAHE X 97,500 102,000 A 4,500
OStLE=SSHIXNAAY 6,000& * 10,0005 60,000
= 18,000
Al 42,000
OstR & It ALS 60,000& * 805 4,800
S 1,152
Al 3,648
OstREsEEZAMD 1,000& = 10,0005 10,000
< 3,000
Al 7,000
Ost S A ALHI DA 10,000& * 6705 6,700
= 2,010
Al 4,690
OB S X E22lH X2
2,000 = 10,000 * 80/100 16,000
= 4,800
Al 11,200
SASIPIINHAS(E) 308,680 345,100 236,420
< 108,234
Al 200,446
402 QI2H X201 M 308,680 345,100 236,420
< 108,234
Al 200,446
01 It AP E X 308,680 345,100 A 36,420
ORI o & H K| 2
15,000& * 6,000 =* 60/100 54,000
S 16,200
Al 37,800
OOl S AHE 4 A4 Bl D & 8| X &
17,000,000& = 304 = 60/100 30,600
S 9,180
Al 21,420
OXEHASZ LKA (EAEHE ZT)
1,2502 * 10,0005 * 80/100 10,000
< 2,250
Al 7,750
O RAIE XA
16,000,000 = 6J A = 60/100 57,600
< 17,280
Al 40,320
OHAI=XelA XA
30,000,000& = 2CH * 60/100 36,000
< 10,800
Al 25,200
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fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
SR BeNY R4 (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Oemetdeug
15,000,000& * 2CH * 60/100 18,000
[ 5,400
Al 12,600
OREMAS T DAY X &
10,000,000%& = 5CH * 60/100 30,000
< 9,000
Al 21,000
OB A=A Z2ICCTVAR
3,600,000& * 14 3,600
< 3,600
OB RAENSZ0III X2
13,000,000 = 2J0 A = 60/100 15,600
= 4,680
Al 10,920
OSRAEH ARG TSIANLEXNA
19,800,000& * 14 19,800
< 19,800
OgAAMNZZ201IK&
200,000& = 60CH * 60/100 7,200
< 2,160
Al 5,040
OgArAHNENS XA
1,300,000& * 11CH * 60/100 8,580
= 2,574
Al 6,006
ogalts=2=JIX&
250,000& = 22CH * 60/100 3,300
< 990
Al 2,310
Ogd=sIiolsA HAXA
600,000& = 25CH * 60/100 9,000
= 2,700
Al 6,300
OL=RaAMZS0IIXA
900,000& = 10CH » 60/100 5,400
< 1,620
Al 3,780
EMEREELEH (L) 51,330 89,400 A 38,070
< 38,100
Al 13,230
307 gl & 18,900 18,900 0
S 5,670
Al 13,230
02 It M AHE X 18,900 18,900 0
O=AM20/2H Qe XI” 18,900,0008 * 14 18,900
< 5,670
Al 13,230
402 RI2HXt20l ™ 32,430 70,500 A 38,070
< 32,430
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AN sg€II=4dH
H: JXAZAMIB R (sEHLF/ 5L - 5F)
Sl BRMY T4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 BIZtt2 AL E X 32,430 70,500 A 38,070
ONSEHNY FBEEI| X
5,670,000& = 14 5,670
< 5,670
Ods=sZEI XA 11,760,000& * 14 11,760
< 11,760
O=sttE REigd N&E 15,000,000& * 14 15,000
< 15,000
=N EBEEHESKNA(Z) 45,000 69,750 A 24,750
< 13,500
Al 31,500
301 gt d= 45,000 0 45,000
< 13,500
Al 31,500
1MIIEBESS 45,000 0 45,000
ONEMH LN 2
4,000,000 * 455 * 25/100 45,000
< 13,500
Al 31,500
FAS0IFH (=) 120,900 116,250 4,650
J| 60,450
= 18,135
Al 42,315
307 gl2tol & 120,900 116,250 4,650
J| 60,450
= 18,135
Al 42,315
02 IZtE M AIHE L 120,900 116,250 4,650
OZAS0ISH (HER =)
9,300& = 13,0005 120,900
J| 60,450
< 18,135
Al 42,315
2B XA (T) 147,000 288,000 A 141,000
< 44,100
Al 102,900
307 21201 A 27,000 243,000 A216,000
< 8,100
Al 18,900
02 It S AIHE L 27,000 243,000 A 216,000
OZHME & Z4 (DNA) K& 30,000& » 9005 27,000
< 8,100
Al 18,900
402 RIZEX 20l A 120,000 45,000 75,000
= 36,000
Al 84,000
01 It 2 AL B X 120,000 45,000 75,000
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2M: sl
M &

ool B

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

o)
o
10
=
fio
O\J

JOHe HHIX&
30,000,000

*

8CH * 50/100 120,000

36,000
84,000

= M

Jl

= M

800,
400
120,
280

000

,000

000

,000

402 RI2HX=01 M

Jl

H

Al

800
400
120,
280

,000
,000

000

,000

ISAEX &

O T

2,00

,000,000& = 141 = 40/100

Jl

2l

Al

800,000

800,000
400,000
120,000
280,000

A

2
08
0F
ry
3

H

= M

,619,079

957,603
61,033
374,475

,225,968

2,453,594

i
o
19
10
O
4
e
=
W

= N W

816,729
490,247

97,946
228,536

696,000

206 M= Hl

= W

372,694
241,380
39,395
91,919

372,694

372,694,000 *

1}\|

=

= W

372,694

372,694
241,380
39,39
91,919

372,694

= MW

444,035
248,867

58,551
136,617

323,306

2,000% = 134,251% = 50/1

OHXIM B B0 A Olgeal X2

2,000% = 101,820 = 60/1

00

00

=z N H

444,035

134,251

93,975
12,083
28,193

122,184

323,306
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sgII=4H
HEEMIIG ZH (B =9l 5E)
EHEY 28 7:8E)
SN FHE - B(SA) - MEAY - BHES il 2
= 61,092
< 18,328
Al 42,764
OHEEE Al 5,000& = 37,5205 187,600
= 93,800
< 28,140
Al 65,660
A B24de WESHL(2) 312,000 312,000 0
= 40,803
< 28,562
Al 242,635
301 L2 AF 312,000 312,000 0
= 40,803
< 28,562
Al 242,635
11IIEtEA S 312,000 312,000 0
Ox ExdtE |
12,000& = 26,0005 312,000
= 40,803
< 28,562
Al 242,635
SSEHH X2 (2) 122,065 122,065 0
| 61,033
< 18,309
Al 42,723
307 21201 A 122,065 122,065 0
| 61,033
< 18,309
Al 42,723
02 BItH &AL & 122,065 122,065 0
OL2=k& 2
19,850,000 * 3= 59,550
| 29,775
< 8,932
Al 20,843
OASAE S NA (2L ML)
31,257,500& » 2% 62,515
| 31,258
< 9,377
Al 21,880
IIEEYU AL (Z) 560,305 497,359 62,946
< 171,692
Al 388,613
206 M= Hl 319,405 303,629 15,776
< 95,822
Al 223,583
01 MHZ 4l 319,405 303,629 15,776
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2N
X ZH -
L= B

el

Ells

sl ZH (sl /s - &)
A OA™

o o [u——

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O7H S & BAND (2=E)
10,000& * 5,230kg 52,300
< 15,690
Al 36,610
OFHE S LG (EESF)
6,000& = 1,500 9,000
= 2,700
Al 6,300
O 0l 0 X & (S 01X & AFE)
11,500& * 2,6005 29,900
< 8,970
Al 20,930
OJNSZYHIAXNA(H 222Y)
10& = 3,100,000 31,000
< 9,300
Al 21,700
OJNFZYHUgANA(NKNSEINZEY)
3,000& » 3,260% 9,780
= 2,934
Al 6,846
ONEZYoLANA(BLIY22)
5,164,0002 * 14! 5,164
= 1,549
Al 3,615
ONEEHULANA (RARY G WA
6,000& » 1,250% 7,500
= 2,250
Al 5,250
O ET YOI oI (R A H S0l of)
5,806,000& * 14 5,806
= 1,742
Al 4,064
ON=ZYHuLAXNA(H 272 FHAE)
57,449,000& * 14 57,449
< 17,235
Al 40,214
ONEZHUL AN (SIS SASHY)
6,600& » 3,320% 21,912
= 6,574
Al 15,338
OJbE T 2 0 2 X 2 (PARS)
2,000& » 5,400% 10,800
< 3,240
Al 7,560
ONEFHHLANA(LBHASIIDH)
4,100& » 3,000% 12,300
< 3,690
Al 8,610
ONSHYHUSAXA(LBWY L S oY)
5,000& » 2,810% 14,050
< 4,215
Al 9,835
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fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
cel: JlEdEEY 28 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OJf=2s0t E54=H N2
27,5003 = 1,20004 33,000
= 9,900
Al 23,100
OHAMAEH ASSIH XA 19,444, 0008 » 14 19,444
< 5,833
Al 13,611
301 L2 AF 159,000 119,830 39,170
= 47,700
Al 111,300
11IIEtEA S 159,000 119,830 39,170
O SYAAHK A (S22 HE 2T HI)
34,300,000 * 14 34,300
= 10,290
Al 24,010
OJ=LAHH XS (HLEZESA=H)
5,000& = 16,3005 81,500
< 24,450
Al 57,050
Osx=9 =& 900,000& = 4H « 123 43,200
< 12,960
Al 30,240
402 QI2H X201 A 81,900 53,900 28,000
< 28,170
Al 53,730
01 It 2 AL E X 81,900 53,900 28,000
OASANENAANY (HARLSAIA)
24,000,000& = 14 = 70/100 16,800
[ 5,040
Al 11,760
OASNENAANY (ZEARLSAIA)
5,000,000& = 5JH4 * 70/100 17,500
< 5,250
Al 12,250
OASANLTBANY (SHASYI)
1,400,000 = 2004 = 70/100 19,600
< 5,880
Al 13,720
OASAMEXNIFAMNG (NHEELHAMSXNILSIHE)
40,000,000& = 1JHA * 70/100 28,000
< 12,000
Al 16,000
I=sHEYE oY 254,874 273,064 A 18,190
101 @14 Hl 6,754 6,696 58
04 JIZHHZ22XNHEE S 6,754 6,696 58
OB JIExAY Mol #E oY
8,2403 * 28 » 70 6,754
201 £B-2dH| 28,220 28,768 A 548




fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
el JIEdgY 23 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 18,200 20,700 A 2,500
Oxl=dgd g =8 7,500
— =g A 3,000& » 2,000 6,000
-8 =8 HME 100& = 3,00000 » 33 900
— == M 60,0002 = 10K 600
OFHY -E824de 28 =2 3,500
—aAMAZA HE 100& = 10,0000H 1,000
—oy JEEY 222
5008 * 2,000% * 2& 2,000
—ME=s ME 100& * 5,0000H 500
OS=LI=A 54 ATz
350,000& = 12& 4,200
OJ=dEY ANz EH dX=
300,000& =« 103l 3,000
02 =224l 10,020 8,068 1,952
OFHS gial =94 Heldl 1,500&  1,000kg 1,500
OgdA=ZH KA 100,000& * 20CH 2,000
OJI=ZY ZALAIZ EHiHl  60,000& * 12& 720
OAL2=8 RFWU 1,490 » 104 * 404 * 523 3,100
O =LA@ &6 285  300,000& * 9H 2,700
206 M= Hl 90,900 80,900 10,000
01 MHZ 8l 90,900 80,900 10,000
OFHME SMBA Al2 2
10,0002 * 5005 5,000
O ogss 2 10& + 3,000,000 * 13 30,000
OAZ JHEYe o4E 7
20,0003 * 250kg * 2& 10,000
OFHMSE UHYAE A=AF
20,000& = 500kg * 18 10,000
OXRQUB20IT Yo ASOE
20,0003 = 500kg * 138 10,000
OJ=dgY =z 7
100,000& * 1005 10,000
ogdg=s 2g 5,000& = 600 3,000
ONSHEY LM 28 M35 2
3,000& = 150E = 10& 4,500
Oozdd HIls dEEJ ¢
1,200& » 2,000 2,400
OF M HAZFS FADI| 2
120& = 50,0004 6,000
301 L2 A Z 129,000 156,700 AN27,700
11IIEEAS 129,000 156,700 AN27,700
OFHY &M dA AlZE MFUI
5,000& » 1,0005% 5,000
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2M: sl
M &

Helr JtsdgY

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

5,000& = 10,0005 50,000
O3x29 =¢ 900,000& 5% = 12& 54,000
OJl=dgd 282 ¢d HMaltl

400,000& * 505 20,000

AMEEASNE () 500,000 500,000 0
400,000

50,000
50,000

= N H

301 LELE A= 500,000 500,000 0

400,000
50,000
50,000

= Hn W

MIIEtEY = 500,000 500,000 0
Odxe 2d= 5,000,000& » 1005 500,000
400,000

50,000
50,000

= N H

BSEHM(2) 29,106 29,106 0
14,553
4,366
10,187

= N H

301 LEE A F 29,106 29,106 0
14,553
4,366
10,187

= N W

243 29,106 29,106 0
A

118,800% » 490CH = 50/100 29,106
14,553
4,366
10,187

= N W

S sot 2gatel N (2) 24,000 24,000 0
12,000
3,600
8,400

zZ W

301 LEE A F 24,000 24,000 0
12,000
3,600
8,400

= N H

NJIEEd=s 24,000 24,000 0
=St 2g2e &

10,000,000& = 4JH A = 60/100 24,000
12,000
3,600
8,400

= N W

0
z
S
T
1
b

=)
Ot
HT

2,397,949 1,777,224 620,725
6,400

il

H
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AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
ool AR IE U B (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 1,098,030
< 311,816
Al 981,703
Rz (R) 301,000 301,000 0
J| 150,500
< 30,100
Al 120,400
301 et d s 301,000 301,000 0
J| 150,500
< 30,100
Al 120,400
NMIEEd= 301,000 301,000 0
OstuRSAXA  430F » 2,800 = 250 301,000
J| 150,500
< 30,100
Al 120,400
SsXE (%) 81,480 72,264 9,216
< 23,148
Al 58,332
301 LptR &3 14,520 14,520 0
< 4,356
Al 10, 164
MIIEE4d3 14,520 14,520 0
ORALSEHIMNEAY 58,000& * 1905 11,020
< 3,306
Al 7,714
OsR*=ZdIAMY 2,0008 * 2,500 = 70/100 3,500
< 1,050
Al 2,450
307 21201 A 12,960 10,944 2,016
< 2,592
Al 10,368
02 HIAFAAFEX 12,960 10,944 2,016
OYsEHU(ZER0) N3 AL
120,000& = 180JH 4 * 60/100 12,960
< 2,592
Al 10,368
402 212t X 20| & 54,000 46,800 7,200
< 16,200
Al 37,800
01 It =2 AL EE 54,000 46,800 7,200
ORRY2AII X &
15,000,000 = 1CH * 60/100 9,000
< 2,700
Al 6,300
O AHISEUa
50,000,000% = 1JHZ * 60/100 30,000
< 9,000
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AN sg€II=4dH
Ha: MEEMIIE M (SPHSSM/S5Y - 5E)
ool DB RE L B (B9 ®R)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
Al 21,000
OMZRES010IXE
13,000,000& * 1CH * 60/100 7,800
< 2,340
Al 5,460
OFFAMAMAILRE
12,000,000 * 1JHZ * 60/100 7,200
< 2,160
Al 5,040
LEXAE (=) 126,000 72,000 54,000
< 26,200
Al 99,800
301 et d = 112,000 58,000 54,000
< 23,400
Al 88,600
NJIEEd=s 112,000 58,000 54,000
OSgE HAAY
600,000& * 3405 * 50/100 102,000
= 20,400
Al 81,600
OFAHI|HH B AR A 100,000& * 100& 10,000
= 3,000
Al 7,000
402 DI2H RO & 14,000 14,000 0
= 2,800
Al 11,200
01 A=A EX 14,000 14,000 0
O=AtSHTHHE Al AE X &
4,000,000& * 5JH24 = 70/100 14,000
< 2,800
Al 11,200
SAE CTSSSEAMANLLES0H(R) 429,000 0 429,000
J| 429,000
402 BIZEXtE0I A 429,000 0 429,000
J| 429,000
01 It 2 AL B X 429,000 0 429,000
OSABICTESSHMANLSES0}
143,000,000 * 10JHZ = 30/100 429,000
J| 429,000
SHAAM () 135,360 127,500 7,860
= 40,608
Al 94,752
402 RIZEX20l A 135,360 127,500 7,860
< 40,608
Al 94,752
01 It AL B X 135,360 127,500 7,860
OHettE XA 80& » 1,470,0000H » 60/100 70,560
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A sgI=HH
HE: MASMIIE M (SHHSL/5Y - 58)
Sl MDY NE U B CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 21,168
Al 49,392
OLHXNsS2 &N
7,000,000€ = 8JHA = 60/100 33,600
& 10,080
Al 23,520
OSAHAMNZEIA
5,000 = 10,400%Z = 60/100 31,200
& 9,360
Al 21,840
IS A8 &4 231,270 162,910 68,360
201 gBt2A | 8,900 8,900 0
01 AP 22| H| 8,900 8,900 0
OsNge g8 F4X 3,000
— S8 60,000& = 10H 600
—E2= 300 *« 2,0000H ~ 4= 2,400
OFAMsIF =0 |9
3,0008 * 1008 » 3= 900
OZMAYE B2 BE Q2B
20,000& = 100 * 5= 1,000
OS2 a2 /st g2 423 Akl
80,000& = 50% 4,000
206 M = H| 3,000 1,200 1,800
01 X2 H| 3,000 1,200 1,800
Oxg2ded (=8 22) 600 * 5,000 3,000
301 et A= 16,370 18,560 A2,190
09 #HAIAHI BAZ 2,250 2,800 A 550
O=EAtsIF s 0| 90,000 * 25% * 13| 2,250
11 JIEtE A= 14,120 15,760 N 1,640
OFALAEE & 24 13,480
—-S& 8,000 * 200% 1,600
-3 1,800 = 6,6005% 11,880
OEAMsI s LAY 640
—-Jzga 80,000& = 2Al2t % 43| 640
402 It X0l & 203,000 134,250 68,750
01 QIZEXIE2AIE 2 X 203,000 134,250 68,750
OXIl BistAl2 olZp 2= (H2MHED)
60,000,000& = 1JHA * 50/100 30,000
OZd 29 g o2& N
2,300& = 20,0000 = 50/100 23,000
OX=4 Hgel X
300,000,000 = 1CH = 50/100 150,000
EANAESE WAL (2) 418,650 630,000 A 211,350
J| 418,650
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AN sg€II=4dH
HE: MASMIIE EH(SEHLLM/5Y - 58
ool AR IE U B SR
SN BA(SA) - MRAY - BES il HImEET
402 BI2FX=01 M 418,650 630,000 A 211,350
J| 418,650
01 It 2 AL E X 418,650 630,000 A 211,350
OSMAEEUHAY
2,093,250,000& * 1Al » 20/100 418,650
J| 418,650
2SN AAE(E) 129,370 78,000 51,370
< 38,241
Al 91,129
402 RI2EX 20| ™ 129,370 78,000 51,370
< 38,241
Al 91,129
01 B2t AP E X 129,370 78,000 51,370
Oo=2dszX& 8,0002 * 9,200kg * 60/100 44,160
< 13,248
Al 30,912
OXsgEIINE
1,000,000& * 17CH * 60/100 10,200
< 3,060
Al 7,140
ORSHUIIX &
2,000,000& * 17CH * 60/100 20,400
< 6,120
Al 14,280
OLSUENSHEINEA
6,000,000& = 5CH = 60/100 18,000
< 5,400
Al 12,600
OgsX3 A 25,000 = 1,15008 * 60/100 17,250
< 5,175
Al 12,075
OBLHASIIHA &
20,000 = 980JH * 60/100 11,760
S 3,528
Al 8,232
OEZLELHN
500,000& = 19JH24 = 80/100 7,600
= 1,710
Al 5,890
E A SHACCPH A E X2 (=) 44,800 39,200 5,600
J| 25,600
< 5,760
Al 13,440
301 YetE A 44,800 39,200 5,600
J| 25,600
< 5,760
Al 13,440
1MIIEBESS 44,800 39,200 5,600
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AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
ool AR IE U B CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAMSHACCPAHE E (s F) ALY
8,000,000& * 8JH = 70/100 44,800
J| 25,600
< 5,760
Al 13,440
YaASHUH(T) 8,355 13,650 A5,295
< 8,355
307 gl2tol & 5,835 0 5,835
< 5,835
02 It M AHE X 5,835 0 5,835
OLMAXAMNS (SIHLS)
1,620,000 & 1,620
< 1,620
Ot 2 XA 3,000,000 4l 3,000
< 3,000
OLMAIIAAMNG (Z8) 540,000 Al 540
< 540
O AT AN (B14]) 675,000& Al 675
< 675
402 BIZEX201 ™ 2,520 13,650 A 11,130
< 2,520
01 It 2 AL B X 2,520 13,650 A 11,130
OBAE 2ESAHY 2,520,000 & 2,520
= 2,520
SO EH5H(2) 102,864 43,200 59,664
J| 74,280
< 28,584
301 LAz 96,000 0 96,000
J| 69,000
< 27,000
1MIIEELSS 96,000 0 96,000
OSMSOIME (=5 1) 88,200,000& * 14 88,200
J| 63,000
< 25,200
OSMSOIME (Mal S MES0H)
7,800,000& * 14 7,800
J| 6,000
< 1,800
402 RI2FX =01 M 6,864 43,200 A 36,336
J| 5,280
< 1,584
01 It 2 AL E X 6,864 43,200 A 36,336
OSE0HEL) P 6,864,000& = 14l 6,864
J| 5,280
< 1,584
EMSHACCPAEE (DB )AL (2 11,200 0 11,200
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2N
X ZH -
L= B

el

A -

HE - S (SA) - HRA - By S

Off &t 24

=

i
2m

= Hn

6,400
1,440
3,360

(o]
2
e
e
Ho
0z
oy

= N H

11,200
6,400
1,440
3,360

11,200

MIIEtE2d=

=]
OS L SHACCPH A E (IS E) ALY
8,000,000& * 2JH & * 70/100

= M W

11,200

11,200
6,400
1,440
3,360

11,200

= M

336,600

100,980
235,620

336,600

in

Al

336,600

100,980
235,620

336,600

QI EAIEE X
A& A
1

|
0,000,000 = 50012 = 60/100

OFALEIIANE X
300,000 * 120CH = 60/100

OFAIE I 22l EANEXE
30,000,000 = 1JHA = 50/100

= M

H

Al

= H

336,600

300,000

90,000
210,000

21,600

6,480
15,120

15,000

4,500
10,500

336,600

in

Al

42,000

8,400
33,600

42,000

= M

42,000

8,400
33,600

42,000

42,000,000& = 14l

Al

42,000
42,000

8,400
33,600

42,000

J|

H

Al

917,800

44,400
105,450
767,950

861,950

55,850

SR

ExXelAME (=)

Jl

114,300
44,400

114,300
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fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
ool FEY 54 54 CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
== 20,970
Al 48,930
402 RI2EX=20| A 114,300 114,300 0
| 44,400
= 20,970
Al 48,930
01 It 2 AL B X 114,300 114,300 0
ONEZ2adel NAA(HHHEX)
17,000,000 * 5JHZ * 70/100 59,500
| 17,000
= 12,750
Al 29,750
OJEExHMel NAAG(HEAL)
137,000,000 = 14 = 40/100 54,800
| 27,400
= 8,220
Al 19,180
ABEFAXNIAE (E) 281,600 222,450 59,150
< 84,480
Al 197,120
201 LB-2d| 12,000 0 12,000
S 3,600
Al 8,400
01 At 2t 2l 12,000 0 12,000
ORJIISESESHH X 12,000,000& * 14 12,000
< 3,600
Al 8,400
301 L2 A F 9,800 22,050 212,250
< 2,940
Al 6,860
MIEE43 9,800 22,050 212,250

700,002 * 205 * 70/ 9,800
= 2,940
Al 6,860
402 912 X2 0| A 259,800 200,400 59,400
= 77,940
Al 181,860
01 BITHE AR B 259,800 200,400 59,400
OXEH HERHH X2
120,0002 * 450H € * 70/100 37,800
= 11,340
Al 26,460
OXSBHAHMZH N
20,0008 * 5009 * 60/100 6,000
= 1,800
Al 4,200
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AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
©el: AEy =4 54 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLNEZ MY M AILXIR(0IA ZIIAE X
) 4,000,000& * 10CH * 50/100 20,000
= 6,000
Al 14,000
OLNEZ MUY Mo AIZX2 (HHAILLH &
ot MAHAE XH)
20,000,000& = 72 = 50/100 70,000
< 21,000
Al 49,000
OHALSSAIZEHIIH XA
30,000& = 6,000% * 70/100 126,000
< 37,800
Al 88,200
HEd ST 521,900 525,200 A 3,300
206 = Hl 30,000 20,000 10,000
01 MHZ 8l 30,000 20,000 10,000
O0ME MaoE BHX P&
10,000& * 3,0004 30,000
301 et A= 46,900 60,200 A 13,300
IARPIS s = 46,900 60,200 213,300
OXFH=S S H(HACCP, ZEZFMEUNZST) K4
2 46,900
—AHUS 8,000,000& = 4044 + 70/100 22,400
—seH 700,000& = 50044 = 70/100 24,500
402 RIZER20l A 445,000 445,000 0
01 It 2 AL B X 445,000 445,000 0
OFAtetd HEE NS
2,000& * 400,000kg * 50/100 400,000
O=EH X&
50,000& * 900& = 23 = 50/100 45,000
s=2 B3 42,200 48,450 N6,250
qllss 22l 42,200 48,450 26,250
201 ¢er24| 2,800 5,800 A 3,000
01 At 22l 1,000 4,000 A 3,000
O==2SEHM 22 M= 1,000,000& = 14 1,000
02 25=24gHl 1,800 1,800 0
OSSESHH SXH(HIRZ,+523)
150,000& * 12& 1,800
206 M= Hl 9,400 16,400 AT7,000
01 M= 4l 9,400 16,400 A7,000
Oss=2sdH 29 I ¢
10,000& = 1085 = 104 1,000
Os2EsdH BEsd Mg 22
15,000& = 30Z = 12E 5,400




fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
g4 s B3 (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OS=c=A N8 Nz 72 (NZ8ax, oAE
g) 10,000& * 3005 3,000
301 g2 4= 13,000 10,250 2,750
1M1IIEBESS 13,000 10,250 2,750
O==2SEHM AN HE SSUHHINZ A=t
10,000& * 3005 3,000
ORJlse Z&+¢ 35,0002 * 2005 7,000
ORJls=E 227+ € X=H XN
50,0002 * 605 3,000
307 21201 A 15,000 15,000 0
05 RIZIRI &3 15,000 15,000 0
OS2=2sdH &2 29|
1,250,000& » 1H » 12& 15,000
405 RHoHE S HI 2,000 1,000 1,000
01 XL 2 EF S| 2,000 1,000 1,000
ORJIs28 L& & AMs FH 2¢
500,000& * 43 2,000
SSXE M| T (s L2/ - 5F) 2,647,968 2,529,575 118,393
= 3,707
| 404,280
< 385,644
Al 1,854,337
Solely Z2dd 2t 1,585,690 1,372,315 213,375
| 375,000
< 247,800
Al 962,890
Qlataial DIBtet S 186,800 109,200 77,600
301 gt d= 1,800 1,600 200
09 HALAHIEAS 1,800 1,600 200
OZJIelah NIl HEA OlHALE HAX Ul
o 90,000& = 10H¥ = 23| 1,800
402 2I2H X201 M 185,000 107,600 77,400
01 It =2 AP E X 185,000 107,600 77,400
OQla oliote sXM XI& 135,000
28X, H&EX, AHFL S
9,000,000& * 30ha * 50/100 135,000
ool 2etF=sX XS
100, 000& = 1,000 *50/ 100 50,000
ZEZFHASHS UL S HAHAMS 122,450 19,200 103,250
201 LBt2d| 36,450 19,200 17,250
01 At 2t 2l 12,000 0 12,000
OLEDEZ TR H=28 IX=
1,000,000& = 12& 12,000
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2N
X ZH -
L= B

el

= - — SHE|
HE - S (SA) - HRA - By S e Hl D= 2t
02 =224l 24,450 19,200 5,250
OLepdZ M 233 (MJIez, AHUAMESE,
DIt EAL =27) 800,000& = 12& 9,600
OLEDE Z T AAE RXNES
1,237,500& * 12&8 14,850
401 Al Bl 28I 85,000 0 85,000
01 A& HI 85,000 0 85,000
O=Es2dasa4Lx 28 0/l
85,000,000& * 14 85,000
405 XHoHF S HI 1,000 0 1,000
01 XL 23 FH S| 1,000 0 1,000
OLepdZ e ZxH &  1,000,000& = 104 1,000
AMMSEALSEUSAIY XA (Z) 745,000 0 745,000
J| 315,000
< 129,000
Al 301,000
402 RIZEX20| A 745,000 0 745,000
Jl 315,000
= 129,000
Al 301,000
01 It 2 AL B X 745,000 0 745,000
OQlat Mo RSAIE U3 At 745,000
— S&4&=  1,000,000,000& = 14 *= 70/100 700,000
J| 300,000
< 120,000
Al 280,000
— &8 50,000,000& * 1Al » 90/100 45,000
J| 15,000
< 9,000
Al 21,000
ALHMSHAIE X2 (=) 150,000 84,675 65,325
J| 60,000
= 27,000
Al 63,000
402 RI2HXt20l M 150,000 84,675 65,325
J| 60,000
< 27,000
Al 63,000
01 22t t= AP E & 150,000 84,675 65,325
OOQl& LHMHSHAIE (ZTHKIZ=) K&
50,000,000& * 4.8ha * 50/100 120,000
J| 48,000
< 21,600
Al 50,400
Oola RolHAIEY XI&
15,000,000 = 4.0ha * 50/100 30,000
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A sgI=HH
M SSAS MAIIY TH(SYHLLM/S - 5E)
el Eolola M 23t (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Pl 12,000
& 5,400
Al 12,600
QIMAMASHIIR(Z) 306,000 459,240 A 153,240
= 91,800
Al 214,200
402 BI2H X 20| M 306,000 459,240 A 153,240
= 91,800
Al 214,200
01 QIZEXIE2AIE 2 X 306,000 459,240 A 153,240
Oeld d2=sJH XN
80,000,000 = 14l = 50/100 40,000
= 12,000
Al 28,000
Oeld Me2Md&ED X
2,000,000 = 80% = 50/100 80,000
& 24,000
Al 56,000
O YND(LTZR)MA X2
70,000,000€ * 2.5ha * 50/100 87,500
= 26,250
Al 61,250
Ofola JIBAIE K&
197,000,000 = 14!l = 50/100 98,500
= 29,550
Al 68,950
SI|oaASENE 29 75,440 0 75,440
402 BI2H X201 M 55,440 0 55,440
01 QIZEXIEAIE 2 X 55,440 0 55,440
OEJ|0a Ml sA Z2EXA 55,440
— 248ty 44 000 ~ 840CH = 3ha * 50/100 55,440
405 XH&HF S HI 20,000 0 20,000
01 XAt =2 F S HI 20,000 0 20,000
OMEME =& HMEI 2L
20,000,000& * 1CH 20,000
EI&E MA 1,062,278 1,157,260 N 94,982
= 3,707
J| 29,280
< 137,844
Al 891,447
AAMASHI(T) 60,000 97,000 A 37,000
= 18,000
Al 42,000
402 SI2HXHE0| ™ 60,000 97,000 A 37,000
= 18,000
Al 42,000
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z
@

soi| M
SRS MADIE RN (SUHSL/5Y - &)
SEHEE M 7lEE)
- - _ =]
M. o (BH) - HSAY - BAS e 2
01 BIZF A2 AL B X 60,000 97,000 A37,000
O%ERE =IH L AL X8
120,000,000& = 14l * 50/100 60,000
& 18,000
Al 42,000
NEEFE=E 4 302,811 235,240 67,571
301 dEtEAZ 71,250 3,200 68,050
09 HALAHIEA = 3,240 3,200 40
Oola U SXEI}F = Ol
90,000& = 18YH = 23| 3,240
11 IIEtE &2 68,010 0 68,010
O SMI A AHI (20152 THHH B 42)
300,000& * 30021 * 70/100 63,000
OWA0 GAP QIZHl X2 (MHH, 2EH)
33,400& * 15094 5,010
402 QI2H X2 0| & 231,561 232,040 N479
01 DIZtAI2AMEEX 231,561 232,040 N479
OYOIE MASI SXHH X2
100,080,000& = 14! * 50/100 50,040
OX&tA SI=sXM XN (KNEMLHE) 108,000
— Ol 4t 9,000& = 20,0002 * 50/100 90,000
—AS&ES Y d2XHS
9,000& = 4,000& * 50/100 18,000
O0F =28t =X X (X=M)
500& = 40,00091 = 50/100 10,000
Ogdx=x=28t SXM XS (W22 XI=M)
500& = 40,00028 = 50/100 10,000
OLEeIHAE=2E =X XS (HABX
350& = 120,000kg * 50/100 21,000
OMIRES AL X2
30, 140,000& = 0.3ha * 50/100 4,521
OW40 B3 SHX 28,000
- 2L2 XA
7,000,000 = 8ha * 50/100 28,000
MASEH=SSH(Z) 250,000 201,500 48,500
& 75,000
Al 175,000
402 QIHX = 0| & 250,000 201,500 48,500
T 75,000
Al 175,000
01 DIZtAI2AMEE X 250,000 201,500 48,500
O4AS== ZXDZ3 N
400,000,000& * 141 = 50/100 200,000
& 60,000
Al 140,000
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AN sg€II=4dH
M SSAS MAIIY TH(SYHLLM/S - 5E)
ool SHERS M CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORUEHA Mgtttz X
100,000,000& = 14 % 50/100 50,000
= 15,000
Al 35,000
SHEIMMAN LD MAY DXE () 100,000 50,000 50,000
< 30,000
Al 70,000
402 2I2H X201 M 100,000 50,000 50,000
< 30,000
Al 70,000
01 B2t AL E X 100,000 50,000 50,000
O3t MAALZTHAMD X
20,000,000 = 10902 = 50/100 100,000
< 30,000
Al 70,000
HA sheletey s4 267,000 305,000 /38,000
402 RI2EX 20| ™ 267,000 305,000 A38,000
01 B2t AL E X 267,000 305,000 /38,000
oMaxzsE 221 35 K&
160,000,000& = 141 = 50/100 80,000
ORNELE 25 X&
224,000,000& * 141 = 50/100 112,000
OLXNMAZZSE sSXHMH K&
7,500,000& * 200H2 = 50/100 75,000
AL XIS SEAME () 9,267 53,720 A 44 453
= 3,707
< 1,668
Al 3,892
402 RI2EXt20l ™ 9,267 53,720 A 44 453
= 3,707
= 1,668
Al 3,892
01 22t t= AP E XL 9,267 53,720 A 44 453
OulUXl B2ZAAE X2 (0H B2AHE)
11,0008 * 1,684.8m" » 50/100 9,267
= 3,707
< 1,668
Al 3,892
DEHIDIETHEHAIE XA (=) 73,200 89,800 216,600
J| 29,280
< 13,176
Al 30,744
402 RI2HXt20l M 73,200 89,800 A 16,600
J| 29,280
< 13,176
Al 30,744
01 22t t= AP E XL 73,200 89,800 A 16,600
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MM DA B (SHUDDY /S YT
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Ce: S2HMAUE2 2F (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
OCCTV S Al &2yl 100,000& = 10CH 1,000
S+ F2dl(deae & oY R2l3L)
1,000,000 = 23] 2,000
OJIEH Al EHIKXBI(AZ, &I, JIH S)
1,000,000 = 23] 2,000
OdeD EIJIEAMN =5 L BE8=
200,000 = 14l 200
206 M = dl 5,200 5,200 0
01 X2 4| 5,200 5,200 0
OH&EIl, JIHEH A2F 2L
200,000& * 5= * 23| 2,000
OHIOIZ2A 89=ol YH2YH S5 2
200,000& * 3& * 23| 1,200
OFAlA HORNME HT ol
1,000,000& = 13 1,000
OFARE BT Y
50,000 * 5& x 43| 1,000
310 2201 15,000 0 15,000
02 =HEES 15,000 0 15,000
O=ZNEgy ns=d =2
15,000,000& = {14l 15,000
401 AlEHIZ £ 0HY| 270,000 49,000 221,000
01 Al&H| 270,000 49,000 221,000
OREo Al AEZIE8E XEZ &A1
30,000,000 = 14! 30,000
OB LE™AlLE & Xl (58KW)
150,000,000 * 14! 150,000
OHDIZ2E XN&E=EHE =& 90,000,000& * 14 90,000
405 KHoHFE S HI 22,800 0 22,800
01 JHML = EF S HI 22,800 0 22,800
Q&L 2] 1,000,000& = 1CH 1,000
OAESE 2 HAD| 600,000 = 2CH 1,200
OAMEE2 S22 UAEd 0]
10,000,000 = {14! 10,000
Odl&& atola 300,000& * 2CH 600
OME R S29HI S 10,000,000 = 14! 10,000
AMNMIEEZ T2 29 20,950 0 20,950
201 LBt 9| 5,600 0 5,600
01 AP 22| H| 5,600 0 5,600
OAMEE 2 HEwal 5,600
— S92 E8 M 1,000 = 2,0008 2,000
—=E8 49 M= 60,000& * 10H 600
— =0 ME 2,000& * 1,500 3,000
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Sl SHMAMs2 2 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
206 M =8l 9,300 0 9,300
01 M= dl 9,300 0 9,300
OMBEEZ2 HMBwd IsSHE 6,300
—gsHME usME 2,000& * 308 » 308 1,800
— AR ME NEME
5,000& = 30& = 302 4,500
OMgus 24N 2L 500,000& * 63 3,000
301 2ELE A= 6,050 0 6,050
MIIEtEd = 6,050 0 6,050
OAEEZ MEWd s ZA=E 3,300
-J =g 70,000& = 1AI2+ * 302 2,100
= = 40,000 = 1AI2+ * 302 1,200
OAMDEEZ B3t (AENE) 2AsE 2,750
-J =g 70,000& = 1AI2t * 253 1,750
-2 = 40,0003 = 1AIZt = 253] 1,000
#E2AAY (A 2NL D) (OIEH/IIE) 128,686 0 128,686
Jl=3H 128,686 0 128,686
1=l 128,686 0 128,686
201 2Bt2 | 27,616 0 27,616
01 AtR 22l | 27,616 0 27,616
OZAEA 7 15,0003 = 23=tA = 128 4,140
OS2 0HAHI 6,000& * 64 » 23 » 12& 9,936
Odet=g 100,000& * 12E 1,200
OA2nl M7 50,000& ~ 12& 600
Oanl =dH(HRHL Y, Sust) 10,360
— SAII(2E) 500,000& = 20K 1,000
—Zgy = 100,000 * 6CH * 50/100 300
—SAMI EUH 200,000& * 53 = 2CH 2,000
—ZEH &Y 200,000 * 53| * 6LCH 6,000
— PC=2l 100,000& * 23CH = 20/100 460
— JIEb =2l 50,000& = 12& 600
OJIEt AtR 22l 5,000& = 23% = 128 1,380
202 04 4 95,220 95,220
01 SLHOYI 95,220 95,220
O FIHEn & ol 95,220
— 2L 003 =+ 238 = 12 » 12& 66,240
— 2ty 90,000% = 23H = 14« 28,980
203 2R =&Y 4,200 4,200
04 B2 4,200 4,200
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350,000& * 123 4,200
405 TtabH S| 1,650 0 1,650
01 AL ESFH SH 1,650 0 1,650
ocasle dJ7g 1,650
—HIOI=S 700,000& * 14 700
— 82X dols 350,000& * 1K 350
— oI Xt 100,000& * 6K 600
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